U=230V R1=200Q t=2,3 min U=230V U=230V P=1800 W
P=1800 W R2=300 I=28A P=60W P=60W t =90 min
R3=150Q
Parallel Spelidee
number of en code
Resistance Rt = ? electrons? Current Resistance Energy van Henk
| =50 cm R=17mQ t=1,15min U=230V R1=200 R1=200Q Reuling
Cu Cu |=56A P=1800 W R2=60Q R2=300Q .
A=80mm2 | A=20mm? Rigt= 15 Q Ri=15Q | Gebruik
Parallel Series Science-
Data
Resistance? length? charge? Current Ry=? Riot = ?
Bereken de vetgedrukte variabele Kijk na
reset
11 mQ 6,1 KWh 0,26 Q 8,8"102 Q) 6,7Q 4,0*101°
N
|~
3,9*102C 20m 2940 783 A 65 0 60 Q




U=230V t=2,3 min Uu=230V | =50 cm R=17mQ Ri=200Q
P=60W I=28A P=60W Cu Cu R2=30Q
A=80mm2 | A=20mm? R3=15Q
Series Spelidee
number of en code
Current electrons? | Resistance | Resistance? length? Riot=? van Henk
U=230V U=230V R1=200Q Ri=20Q | P=1800W | t=1,15min | Reuling
P=1800 W P=1800W R2=300Q R2=60 Q t =90 min I=56A .
Ri=150 Rigt= 15 Q ngrU|k
Parallel Parallel Science-
Data
Current Resistance Riot = ? R:=? Energy charge?
Bereken de vetgedrukte variabele Kijk na
reset
65 Q 4,0*101 3,9"102C 6,1 KWh 2940 8,8*102Q
N
| N
6,70Q 60 Q 11 mQ 20m 0,26 Q 783A




U=230V U=230V [ t=115min [ P=1800W | R1=200 t=2,3 min
P=60W P=60W I=56A t =90 min R2=300Q I=28A
R3=150Q
Series Spelidee
number of en code
Resistance Current charge? Energy Riot = ? electrons? | van Henk
R1=200 U=230V U=230V =50 cm R1=200 R=17mQ | Reuling
R2=30Q P=1800 W P=1800W Cu R2=60 Q Cu .
Ra=15Q A=80mm? | Rm=15Q | A=2,0mm? | Gebruik
Parallel Parallel Science-
Data
Riot = ? Resistance Current | Resistance? Ry=7? length?
Bereken de vetgedrukte variabele Kijk na
reset
20m 3,9"102C 60 Q 650 7,83A 2040
N
[ SIS
11 mQ 6,1 kWh 6,7Q 4,0*101 0,26 Q 8,8"102Q




U=230V U=230V P=1800W | =50 cm t=1,15min R1=200Q
P=60W P=60W t =90 min Cu I=56A R2=300Q
A =8,0mm2 R3=15Q
Parallel Spelidee
en code
Current Resistance Energy Resistance? | charge? Riot = ? van Henk
Ri=200 R1=200 R=17mQ | t=23min U=230V U=230Vv | Reuling
R2=60 Q R2=30Q Cu I=28A P=1800 W P=1800 W .
Rit= 15 Q Ri=15Q [ A=20mm? Gebruik
Parallel Series Science-
number of Data
R:3=? Riot=? length? electrons? Current Resistance
Bereken de vetgedrukte variabele Kijk na
reset
783A 294 Q 20m 3,9"102C 60 Q 65 Q
N
|~ [N
0,26 O 8,8"102 O 11 mQ 6,1 KWh 6,70 4,0*10'®

L)




R1=20Q R=17mQ Ri=200Q Ri=200Q t=23min U=230V
R2=300Q Cu R2=60Q R2=300Q I=28A P=1800W
R3=15Q A=20mm? Rigt= 15 Q Ra=150Q
Series Parallel Parallel Spelidee
number of en code
Riot = ? length? R:=7? Riot = ? electrons? Current van Henk
U=230V | P=1800 W I=50cm | t=1,15min U=230V U=230V | Reuling
P=60W t =90 min Cu I=56A P=60W P=1800 W
A=80mm? Gebruik
Science-
Data
Resistance Energy Resistance? charge? Current Resistance
Bereken de vetgedrukte variabele Kijk na
reset
11 mQ 20m 0,26 O 783A 6,7Q 60 Q
N
| [N
3,9"102C 6,1 kWh 2940 88102 Q) 65 Q 4,0*10"®




R1=200 U=230V [t=115min | R=17mQ [ P=1800W | t=23min
R2=60Q P=60W I=56A Cu t =90 min I=28A
Rigt= 15 Q A =2,0mm?
Parallel Spelidee
number of en code
R:=7? Resistance charge? length? Energy electrons? | van Henk
U=230V I=50 cm U=230V Ri=200Q Ri=200 U=230v | Reuling
P=1800W Cu P=1800W R2=30Q R2=30Q P=60W .
A = 8,0 mm? R3=15Q R3=150 Gebruik
Series Parallel Science-
Data
Current Resistance? | Resistance Riot = ? Riot = ? Current
Bereken de vetgedrukte variabele Kijk na
reset
3,9*102C 6,1 kWh 65 Q 4,010 2940 8,8*102Q
N
A
11 mQ 2,0m 6,7 Q 60 Q 0,26 Q 783A




R=17mQ R1=200Q t=2,3 min | =50 cm R1=200Q Uu=230V
Cu R2=300Q I=28A Cu R2=300Q P=60W
A=20mm? R3=150Q A =80 mm? R3=15Q
Parallel Series Spelidee
number of en code
length? Riot = ? electrons? | Resistance? Riot = ? Current | van Henk
P=1800W | U=230V U=230V Ri=20Q | t=1,15min | U=230Vv | Reuling
t = 90 min P=1800 W P=60W R2=60 Q I=56A P=1800W .
Rit= 15 Q Gebruik
Parallel Science-
Data
Energy Resistance | Resistance Ry=? charge? Current
Bereken de vetgedrukte variabele Kijk na
reset
11 mQ 20m 0,26 Q 783A 6,7 Q 60 Q
N
AN
3,9*102C 6,1 kWh 294 Q 8,8"102 Q) 65 0 4,010




